- .y
a
3 V el

-
PWP Defender

Defender Tur - Porte Defender - Defender Door

Montage Anleitung
Building instruction
Montage handleiding
Instruction de montage

‘ I |
i
i

1l |
‘ I I
! I |
i
i

06.02.2014




PWP SA

2910004 /2910 004.1

S T
~ -_:-_-‘:-_,,.: 2X
/ 2 389 067
2X
_ i
33069 Lg.2758
2X
Tr 33072 Lg. o \L
1x

—‘l_ 2 389 060

33009 Lg. 2758 2X
1x

2119 100-1
Lg 2930
4x

ou/oder/of/ or
2910005/2910 005.1
/ 23829)(068

puamp

2 389 059
2X

I 33072 Lg. 3093 \L

33069 Lg. 3093 é i
2X

x 2119 100-2
Lg 3265
2 389 060 4x
33009 Lg. 3093 2%
1x
06-02-2014 PWP - R&D




PWP SA

2910014

= e q'

2019234.1 2019 236.1
4x 4x 2 389 063 2389 014

1x 15 m. 16x.

2 389 061
2 389 062 3x
3X

2 389 007 2 389 046

2389 072 2 389 071 8X. 8X.
1x 1x
ou/oder/of/or

2 910 015

= e g'

2019 234.1 2019 236.1
4Ax 4x 2 389 063 2 389 014

1x 15m. 20x.

2 389 061

2 389 062 3x
3X

2 389 007 2 389 046
2389072 2389071 10x. 10x.

1x 1x

06-02-2014 PWP - R&D



PWP SA

2 910 930

h L1

2119036 2019661.1
4x 4x

2 119 066.2
2119030 4x
4x
ou/oder/of/or

2 910 931 '

NE T

2 119 201

2 119 036 2 019 661 1

2 119 202

' 2019 713
12x

2 119 066 2
2119030

4x

06-02-2014 PWP - R&D



<
%)
0
=
o
©,

A-A

7
/S IH T
"% |
D" Y i X
e — _— 1
=75 =
| |
5 eI e
. . _
e N L e N o e | I L e e N

2550

PWP - R&D

06-02-2014



PWP SA

o
T
' g
.
1
" I
T
1T T 1T
o r~—
-F e
-Il [aa'| L | = E
: i 3 g £
I a -.:IE
1
" ¥ | ¥ L
)
(1% puemp L S °
2 389 067 / 2389 068 33 069 33072 33 009 2119 100
2X 2X 1x 1x 1x

06-02-2014 PWP - R&D 6



PWP SA

J#

2 389 067 / 2 389 068 1% N

/ 12 987 12 987 12 987 12 987 1298 33 069
RN N N B
i I N = I =1 | ol [ | || i I.'I [

06-02-2014 PWP - R&D 7



PWP SA

06-02-2014 PWP - R&D



PWP SA

2019 234.1

2119 100-1
Ou/oder/of/or
2119 100-2

”

06-02-2014 PWP - R&D

II |

Il I

|l |

I I

I |

Il |

I |

II |

II |

] |

Il I

Il |

Il |
e

| |

’ /T |
Il |

Il I

/1 |1 u
= -z%?_:l*b" = '7-"2'%




PWP SA

06-02-2014

PWP - R&D

10



PWP SA

06-02-2014

PWP - R&D

11



PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP aanbeveling :

Recommendation PWP :

10
50 50, 50 50 o 17
50 50 N == 1
0,50 50 e NN )
- Ty T 1 - S [
. " ¥ * ' '
[.
—
[I
-
qu’uuﬂmpuqunlunpmA w7
& Srapg A
_ iy L, e
50 50
—

10
]

) | |
/__-“\/\
= N

A

\ )
_..i soi's'oi.._ ‘soisoi__ _..1 soisomso SOL_..i'sai.sﬁi.._ _jso 10

06-02-2014 PWP - R&D 12



PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP aanbeveling :

Recommendation PWP :

24x Rivet Monobolt Alu @6.4x14.1
24x Niete Monobolt Alu #6.4x14.1
24x Monobolt Alu #6.4x14.1

24x Rivet Monobolt Alu @6.4x14.1

06-02-2014 PWP - R&D 13



PWP SA

06-02-2014 PWP - R&D




PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP aanbeveling :

Recommendation PWP :

6x Blind rivet Zn®6.4x26

06-02-2014 PWP - R&D

AN
JI_FJ_} R

6x Rivet Aveugle Zn 06.4x26

ﬂﬁ 6x Blindnieten ZN ¢6.4x26

6 x Popnagel Zn ¢6.4x26

A

15



PWP SA

06-02-2014

PWP - R&D

16



PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

0 10 10 10 10 10 10 10 10 10 10 10

° : : —_—
\ ;

| [

[ V
).

e AT
|—— |

10 10 10 10

10 10

06-02-2014 PWP - R&D 17



06-02-2014

PWP - R&D

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

24x Rivet Monobolt Alu @6.4x14.1
24x Niete Monobolt Alu #6.4x14.1
24x Monobolt Alu #6.4x14.1

24x Rivet Monobolt Alu @6.4x14.1

18



PWP SA

06-02-2014

PWP -

R&D

PR T

19



PWP SA

06-02-2014

PWP - R&D

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

4x Rivets Monobolt Alu 36.4x14.1
4x Niete Monobolt Alu @6.4x14.1
4x Monobolt Alu @6.4x14.1

4x Rivet Monobolt Alu #6.4x14.1

20 20
i

20



PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

— ISO 8748 @5x28

8%
2119 036\1\

b4

V

2119 030
2X

06-02-2014 PWP - R&D 21



PWP SA

Assembler les coins en plastique
uniquement apres thermolaquage

Bei Pulversbeschichtung, Kunstoff Ecke
nachtréaglich montieren

Bij powdercaoting moeten de
hoekverbinders naderhand gemonteerd
worden.

Assembly of PVC corners only after
powder coating:

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

6x Rivet Aveugle Zn 06.4x26

ﬂﬁ 6x Blindnieten ZN ¢6.4x26

6x Popnagel Zn $6.4x26

6x Blind rivet Zn®6.4x26

2389 061
2389 062

1 l
‘l =t
=Y .

2 389 061

06-02-2014 PWP - R&D 22



PWP SA

06-02-2014

PWP - R&D

23






PWP SA

. 2 389 067 / 2 389 068
33069 12 987 12 987 12 987 12 987 2% S
L= Lo T 19

,g_.,-“_j——ﬁ_——:_-

|

|

|

|

|

|

[SASNER St

06-02-2014 PWP - R&D 25



PWP SA

06-02-2014

PWP -

R&D

26



PWP SA

06-02-2014

PWP - R&D

2019 234.1

=

|
2119 100-1 )éi[; -
Ou/oder/of/or £ == i

2119 100-2

”

'ERARE
"
i ||
"
i I
ol
il Il
I
e
el

27



PWP SA

06-02-2014

PWP - R&D

28



PWP SA

06-02-2014

PWP - R&D

2019 236.1V

29



@ PWP SA

N

i\lnqmum
i lLl.HLl!\U-ll‘h“ T
o AR

¢ b il i i

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

50 50 050 s
- - 50 50 o Ny
10
e N N o
" * - ' .
T } n l ’

PWP - R&D

50
4
N
A
i
\
|
K
L —
50 50
50 e L

30



PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

24x Rivet Monobolt Alu @6.4x14.1
24x Niete Monobolt Alu #6.4x14.1
24x Monobolt Alu #6.4x14.1

24x Rivet Monobolt Alu @6.4x14.1

06-02-2014 PWP - R&D 31



PWP SA

06-02-2014 PWP - R&D




PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

6x Rivet Aveugle Zn #6.4x26

‘ 6x Blindnieten ZN ©6.4x26

6x Popnagel Zn #6.4x26

A 6x Blind rivet Zn@6.4x26

I

e

06-02-2014 PWP - R&D



PWP SA

06-02-2014

PWP - R&D

i 2]

-k sfi&:—:: i

34



PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

2x Rivets Monobolt Alu $6.4x14.1

-m@ 2x Niete Monobolt Alu @36.4x14.1

2x Monobolt Alu @6.4x14.1

2x Rivet Monobolt Alu #6.4x14.1

i op

| |
1
|
]
i

06-02-2014 PWP - R&D 35



PWP SA

06-02-2014

PWP - R&D

36



PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

10 10
10 10 10 10 10 10 10 10 10 10 10

g S | T -3
)
Y

10 10 10 20
] e ]
i )
1
:

\
i

10 10 10

10 10

06-02-2014 PWP - R&D 37



06-02-2014

PWP - R&D

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

24x Rivet Monobolt Alu @6.4x14.1
24x Niete Monobolt Alu #6.4x14.1
24x Monobolt Alu #6.4x14.1

24x Rivet Monobolt Alu @6.4x14.1

38



PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

3x Rivets Monobolt Alu #6.4x14.1
3x Niete Monobolt Alu @6.4x14.1
3x Monobolt Alu @#6.4x14.1

3x Rivet Monobolt Alu #6.4x14.1

i

100

.—l—.
:¥__

06-02-2014 PWP - R&D 39



PWP SA

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

s 1SO 8748 @5x28

2119 036 8x
X2

? 3 E 3

V

2119 030
2X

06-02-2014 PWP - R&D 40



PWP SA

Assembler les coins en plastique
uniguement apres thermolaquage

Bei Pulversbeschichtung, Kunstoff Ecke
nachtraglich montieren

Bij powdercaoting moeten de
hoekverbinders naderhand gemonteerd
worden.

Assembly of PVC corners only after
powder coating:

Recommandation PWP :
PWP Empfehlung :
PWP Aanbeveling :

Recommendation PWP :

6x Rivet Aveugle Zn 06.4x26

ﬂﬁ 6x Blindnieten ZN @6.4x26

6x Popnagel Zn $6.4x26

6x Blind rivet Zn®6.4x26

2 389 061 * 2 389 062

t

2 389 062

2389071

06-02-2014 PWP - R&D 41



PWP SA

06-02-2014

PWP - R&D

42



PWP SA

06-02-2014 PWP - R&D 43



